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1. Bumblebees support the creation of fruits and
vegetables through the ______ of flowers.
2. Bumblebees are an invertebrate, as they lacka _____ .
| _‘ 3. To help reach our 5 a day, we need to be eating
fruits and ___.
- ] 4. Where can the antennae be found on a bumblebee?
W T = e 8. Bumblebees have three ____ of legs.
- ‘\_) ‘ 9. The head, abdomen and the thorax make up
the three body _____ of a bumblebee.
AROSS 11. A bee pollinated, red, small, juicy fruit that has
5. Also called a proboscis, this is what the bumblebee will use to small brown seeds on its surface.
suck nectar out of a flower. 13. Without bumblebees, it would be harder for us to
6. Bumblebees are ____across most of Britain. This word also havea_____ diet.
means ‘all over the place'. 14. Bumblebees are classified asan ____
7. The longest bumble bee tongue is ___ centimeters long when
fully stretched. HOW MANY TYPES
10. A bumblebee pollinated fruit in the citrus family, looks very OF BUMBLEBEE
similar to an orange. SPECIES ARE @
12. By going from flower to flower, bumble bees are t____ pollen. THERE IN THE UK?

15. Bumblebees are a key stone species, which means they are
___toour ecosystem.
16. Bumblebees don't put their tongues in their mouths like us, THIS CROSS WORD INCLUDES
they keep their tongue ____ under their body. CURRICULUM LINKS TO KS2



